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wietrg) & fe Frdwr -
Instructions for the candidates :
1. et qurgve 3wt vt °F & 3 8

Candidates are required to give their answers in their own words as Jar as
practicable.

qifel 3y mfird o R g iw quits Eifee v £
Rgures in the nght hand marygin indicate full marks.

3. ¥§ WA ¥ wEyEs s & fAv ciefed #1s fre & sfafte arg R
mar &1

L]

15 minutes of extra time have been allotled for the candidates to read the questions
carefully.
4. IF S¥NF < @3l § &, wvE-3 05 wvg-u)

This question paper is divided into two sections — Section-A and Section-B.
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5 @E-I ¥ 48 awgfre gy &1 w1 @ Fet a0 gwat @1 3w A 41 94 & fe
1.3 Fifea &1 afe & aiumet a0® sifu get @1 3w dar & @l U 40 9 &
ST FT & G &1 F7HT I IITH T T OMR IT-97F A [{7 M 71 I
¥ Ficl/#1 @it 47 & w1 Reed W} wwr & gy ) A w@nd ) @8/ TG
TR T OMR FT-unw o wahr wvar 7 & S=wwr e vy ST @I

In Section-A, there are 48 objective type questions; out of which any
90 questions are to be answered. If a candidate answers more than 40 questions,
then answers of first 40 questions will be evaluated only. Each question carmes
1 mark. Darken the circle with blue / black ball pen against the correct option on
OMR Answer Sheet provided (o you. Do not use whitener / liquld / blade / nail
etc. on OMR Answer Sheet; otherwise the result will be {nvalid.

6. TVS-T ¥ 28 7Y Ity wvT &1 379 8wy wiferw ymew &, 79 TAIEA A &
@ 79¥ dia famr & &1 9&E oy (vifs e, oA e od g ) @
AR-GR J¥A] & IW 3 }1 94F & fow 2 % Fryiica &1 379 Afalie 3@ wvg &
6 314 Iwtia w1 (A o & fad @ 2wy wifye s &, 2 WVA TR VTR &
W& 20v7 dia faar & & wifaw e & dd Imde T F ke 6 a9, e
e d dia faar & o s o Fifta @1 9w faaa (i s, T e
va Al faar) & vw-va qv7 F7 Ia0 7 Hqard &

In Section-B, there are 28 short answer type questions. Out of these, eight
queslions are from Physics, seven questions are from Chemistry and seven
questions are from Blology. Four questions are to be answered from each subject
(Physics, Chemistry and Blology). Lach question carries 2 marks. Apart from
these, there are 6 Long Answer type questions in which two questions each from
Physics, Chemistry and Biology are there. l.ong Answer lype queslions from
Physics carmies 6 marks each, and from Chemistry and Blology carries § marks

each. Answer of one question each from Physics, Chemistry and Blology is
compulsory.

7. [#G1 9FR & RIS IUHTT F 99 QUiaar afa ¢

Use of any electronic appliances is strictly prohibited.
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TWYE - 5 / SECTION - A
1@ WIT / Objective Type Questions

TyT W xﬂqswmﬁwmhni#ﬁm?wwwmhhmm
& wre ar freee fro o & Frd @ v wet 41 o g g3 0 A feew wt omr
vz ar fafRsa ¥ 40 x 1 = 40

Question Nos. | to 48 are of objective type. Answer any 40 questions. Each question has
Jour options out of which only one is correct. You have to mark your selected option on

40x 1 = 40

the OMR sheet.
1. Fretfefaa § @ @ gaq &R AR ug € 2
A A7 (B) 2n
(C) Fe (D) Mg
Which of the following metals is least reacted ?
(A) Al (B) 2n
(C) Fe (D) Mg
2. &ET & WHY] T &
B 6 (B) 8
(C) 9 (D) 11
The atomic number of carbon is
(A) ) (B) 8
< 9 (D) 11
3. IRigE ARSI A FEA-FEA wE] & i f2-3m #A € 9 FRe €
(A) UeR (B) UemRA-
© TewmX (D) ¥ @IS T
Unsaturated hydrocarbons having triple bonds in between carbon-carbon atoms
arc called
(A) Alkane (B) Alkyne
(C) Alkene (D)  Nonc of these
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(A) - OM m - cHo
€ -coon v »>CO
The formula of functional group of ethanol is
A -on (3) -CHO
(€} - COOHWV oy >CO
S 4qa wivdvem w s e &
A g @ ¥m A
(€) a8 / vy D) dm-riE-
The S.1. unit of the clectrical resistivity is
(A)  ohm (B) ohm/metre
(C)  volt/metre (D) ohm-metre
o. [=fefan 3§ @ ¥ frge =1 g9 a0 a8 & 2
(C) -RwIN D) T
Which of the following is the best conductor of clectricity ?
(A)  Silver (B) -lron
(C)  Nichrome (D) Rubber

7. o wR1 & Jawm v @ @ e fea ar 2

A) &3 B AR
(€ R ) aR

Who discovered the magnetic effect of electric current ?
(A)  Faraday (B)  Oecrsted
(C) Ampere (D) Bohr
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10.

faga wtez ofafam &k
(A difEE Fat @ faga w0 B) Tt Fo w faga s o
© faga 5 & ot s o) fage w9 @ aife s g

Electric motor converts

(A} mechanical energy into clectrical energy
(B)  chemical cnergy into electrical energy
(C)  clectrical encrgy into chemical cnergy

D) clectrical energy into mechanical encrgy
I ofram # mmﬁwéﬁmﬁmm(m-m)ofmﬁmeamm
R 3in i &1 e & A g 2 fean e

(A) AP # AR B) @& IR

(© et o) el

When positively charged particle [ alpha-particle) is projected towards west and
deflected towards north by a magnetic ficld, the direction of magnetic field

willbe  hitp://www.bsebstudy.com
(A) toward south (B) lowards cast

(C) downward (D) upward
€I i 11 <A g amgfd @ A &, a9
(A) 220V W ez vy &7t & B) 12V W e ym g @

C) 220VRAAEA YR AR (D) 12 V R Tl Ui we &

The domestic supply of clectric current is
(A)  dircct current at 220 V . {B) direct currentat 12V
(C) alternating current at 220 V (D) alternating current at 12V

2
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; - : wwA R ?
Y m wA ura w ok fead g @ S A & 3 faryy ft 18t T WHC ¥

Ay v fras B A A fet

©  mufe D) A

In which day a solar water heater cannot be used to get h'ot water ?
(A) A sunny day (B) A cloudy day

(€} A hot day (D)  Nonc of these

12 FE A el e an @ s F ogem TR 2

(A) AT B) @A FAl
(€C) afvEE FA (D)  FEE
Which of the following is not derived from the solar cnergy ?
(A} Geothermal energy (B) Wind energy
(C)  Nuclear energy (D) Biomass
13 T & W fEd o 7 W Rea e @ wfafasa dha gl da R A a9 79 R
1) #A anae (B) FaAA HATA .~
(€) &5 I (D) & A wAS 3Gl IAA

Il the image of an object is always erect for any distance of the object in front of
the mirror, then the mirror is

(A)  only planc (B)  only concave
(C)y  only convex (D)  cither planc or convex

14, R @ s 8 wgw g fefefead @ @ g g 2

(A)  HaAA 29U (B) I WS

(€] @HAF 2 (D) VWA A Ieel g9
Which of the following is the mirror used in the headlight of a car ?
(A) Concave mirror (B) Convex mirror

(C) Plane mirror : (D)  Planc or convex mirror

[ 112 | J |5012-J 120 Page 6 of 20




15 Foafefian @ famn smatais s g d o

(A} A B) T

© (D)
Which of the following has the highest refractive index ?
A)  Air (B) Ice

(C) Glass (D) Diamond

16, Fefefam 8 3 fan dn o1 sfvard do #61 § 2

(a) ITE @n (B) ¥FAA AW
(C) IAA Ud 3AAA FW AET (D) dAREEFA A

Which of the following lenses is called converging lens ?
(A)  Convex lens (B) Concave lens

(C)  Both convex und concave lens (D) Bifocal lens.

17, fa=faima 9 @9 2ygfam & 2

1n FgES (B) RE
€ sz (D) A
Which of the following is bisexual ?
(A)  Earthworm (B) Frog
(C)  Fish (D)  Tortoise

18. T3 A A wEm & fg fEm i w2

(A)  “m C B E
(ST : o s’
Which plant is sclected by Mendel for his experiments ?
(A) Mango ’ (B) Rose

(C) Wheat x (D) Pea
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19. 7= % 4 ®7 w5 st st k 7

W 7R |

€ Fm D) wfswm
Which onc of the following is a vestigial organ ?

(A)  Backbone (8) Thumb

(C) Ear (D) Apendix

20. ‘favw s’ fema e o

_A) T HageS B) TR HWM
€) ¥ e (D) QU™
‘Chipko movement' is related to
(A)  forest conscrvation (B)  soil conscrvation
(C}  wnter conncrvation (D)  afforcstation

21 Fpafalen 3t @ a% du s s (mem k2

.(M % (B) uv
v
(C) TR (D) i
Which of the following is the magnification ( m ) of a lens ?
u
(A) = B) wuv
al * l
(C) wusv (D) -
22, frefdfEadd SR W@ oRamemE 2
(A} it ® v
() ofenfar O g
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Which of the following is the coloured portion of an cyc ?

(A)  Cornea (B) Retina
(C) Ins (D) Pupil
23 WY ¥ WER & o ot @ e s g X 2
-(A) @& B) Hen—
() dtem (D)
Light of which colour scatters more in atomspherce ?
(A)  Red (B) Blue
(C)  Yecllow (D)  Orange
24, WERI W wem & wnwr g of anafas gEeg @ amm 2 fee @ ek 3
T X 2
(N W& (B) ARSI A v
(C) WHNE (D) AHEEAE AT wd e 3

The sun is visible to us about 2 minutes before the actual sunrise due to which
phenomenon of light ?

(A) Rellection

(B)  Atmospheric refraction

(C) Scatlering

(D)  Both atmospheric refraction and scattering

25. INyfie yEd Fawm & sER d@l & v Refatea 9 fEes wmd wem
g & 2

(A) T ZAIAI & (B) TNI] WA &~

(C) UTHN] &R & (D) WA &

According to modern periodic law, propertics of elements are a periodic function
of their

(A) Atomic masscs (B) Atomic numbers

(C)  Atomic size (D)  Density
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26 3y s Tl # df wa Fetataa § w0 wRer & 2

B s B FF

(€ =@ D) TR FE A

The horizontal rows of modern periodic table are known as which of the
following ? '

(A} Periods (B) Groups

(C)  Shells

(D)  None of these

27, TR & N O & o | awn & ol B d @ A P swgw R 2
(A) U AT B) 2 AmE
€ = = wa gy D) THR TR~
Which of the following methods is suitable for preventing an iron frying pan
from rusting ?
(A)  Applying grease (B)  Applying paint
(€} Applying a coating of zinc (D) Al of these
28.  Foafafaa ¢ few wiq & 9 @ et @ T wEA R 2
(A) Al 4B} Nav
€} Mg (D) Cu
Which of the following mctals can casily be cut with a knife ?
(A) Al (B) Na
(C) Mg (D) Cu

29 FeffEndd @ @ & e F g stz k2

AN Cl

3 (B) SO,

AC)  Co, -~ (D) O,
Which of the following gascs tums lime water milky ?
(A cl, B so,
(€ CO, (D) O

2
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0 el e frsfafan 8 @ fead oy k2

(A ZWIR (B) Hm
) faw D) E
Tartanc acid is found in which onc of the following ?
(A) Tomato (B) Orange

(C) Vinegar (D) Tamarind

31 faem & vwefs ga

(A CaS0,.31,0 (B) CaSO,.2H,0
€] CaSO,.10H,0 (D) T & HI§ A
The chemical formula of Gypsum is
W CaSO,.3H,0 (8) CaSO,.2H,0
(€)  CaS0,.10H,0 (D)  Nonec of thesc
32 few A wegRe It & dre sfuhea @ Prefefea F } # @ t Feerd @ 2
A 0, (B) CO,v~
& H, (D) N,
Which of the following is evolved when zinc reacts with sulphuric acid ?
(A) O, (B) €O,
(€ H, (D) N,
33 WEEAF FH A SA-W AR R ?
W (B) WY
© @A (D) T
Which discasc 1s ca_nuscd by the deficicncy of iodine ?
(A) Goitre (B) Diabetes
(C)  Scurvy (D) AIDS

[ 112 ]J (5012-J 20 Page 11 of 20




M g AR fi'py.{g{\ ljf'" O frwert aen gl & 7

(A) alg emis ) i

1C) iqﬁ«n D) g

Which one of the following is u hormone sccreted by pituitary gland ?

A} Growth hormone (B)  Thyroxine

€} Insulin (D)  Androgen
35 N adfrw s fag fafy AR 2

(N FEA B fadsa
C€)  aAvEER (D) F0T A W
Which method of nsexual reproduction occurs in amoeba ?
(A) Budding (B)  Fission
(C)  Sporulation (D)  All of these
30, FE N FA-T UV GH § TG40 2 9
(A gFIR (B) IR
jer s (D) A=

Which part of a flower changes into fruit ?

(A} Stamen (B) Carpel

(C)  Ovary, (D)  Ovule
37 WM& g AN 9% w9 ) e @ @ Srdfra w2

9] At a1kion (e (B)  WEWR FYERT
(€) Al e (D) H& U9
Opening und closing of stomata is controlled by

(A)  guard cells (B)  companion cclls
(C)  sieve tubes (D) root hair
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40

4].

= 3 R # e ®) o o faroes vet b 2

N T By AW

(C) TETIEEAw D) frem

Which one of the following is structural and functional unit of kidney ?
(A} Ncuron (B)] Nephron

(C)] Glomcrulus (D) Ventricle

WAE &1 9 Il o fefea A @ § 2

3 gw/ B &
(C) % UG (D) =™

Main cxcretory organ of human beings in the following is

(A)  kidney (B) blood

(C)  sweat gland ' (D) pancreas
TZE FE 2

(A) WM mEEs 8 T fem gmm
(€) 99w | (D) T | vl

What 1s Androgen ?
(A) Male sex hormone (B) Female scx hormone

(C)  Digestive juice (D)  All of these

7a fall sfvfra & aag el w3 o s i gfe & &, & F=fetea 9 |

41 FE AR ?
(A)  ITTEA (B) AT
€  wErm (D) T W FE T
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. Wil A% whi(h of the
If 0 substance gains oxygen during a reaction, then 118 kno

following ?
(A) ~ Oxidation (B)  Reduction
(C)  Corrosion (D) None of these

A2 SUE W p)f A I R
a  7awm g 7w

< 7 (D) 14

The pH value of an acid 1s
(Al lessthan 7 (8) more than7
i) 7 (D) 14

a3 i @1 W @ aifaw T R
(A)  Na,CO, (B) Na,CO,2H,0
(€} Na,CO,.10H,0 + (D) Na,CO,.5H,0.

The molecular formula of washing soda is

(N Na,CO, (B) Na,CO,.2H,0
(€)  Na,CO,.10H,0 (D) Na,CO,.5H,0

aa tmﬁmﬂq&mm&ﬁtﬁmdﬁmmmm*"‘

e R

(A)  HERE IE v 1Br T e

) fefgw ana D) wwFAfEE e
Bee-sting Icaves an acid which causes pain and irntation. The acid is
(A)  Mecthanoic acid (B) Ethanoic acid

(C)  Citric acid (D) Oxalic acid
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(A) T g @ Az
}l Teury LU (D) 9% I
How does amoeba catch its food ?
(A) By tentacles (B) By tongue
(C) By pscudopodia (D) By mouth
a6 BT CARA qW T v e § )
A i ‘/ (B) &"Ifﬁ
(C) “Ta (D) AR
Which cnzyme acts upon fat ? .
(A} Pepsin (B) Trypsin
(C)  Lypase (D) Amylase
47 @ T & wwa @ s ot gE o 8 2
JA)  AnEE (B) AT
(€ (AU (B) &~ (D) ¥ 4 P A6
Which type of respiration rcleases more energy ?
(A)  Acrobic (B) Anaerobic
(C) Both (A) and (B) (D) None of these
48. FOE & TTA ¢
W gl ' B frews
€ @@ D) FHE
Respiratory organ of fish is
(A) trachea (B) gils
(C) skin (D) lungs
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WY¥ - W / SECTION - B
viffers e Physics
WY I 0¥ / Short Answor Type Questions

R¥T W 1#amwmilnidw4wﬁ*mf'mm*w

237% Fify #1 '4 x 2‘ 8
: : p estlion

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 queslions. Each qu )

cames 2 marks. : 1x2

S-S

w

s

WFW a9 @ l-sommﬁmhﬁﬁzﬁmmhm““w'ﬁm
Famaﬂ?fwaiaémmﬁmsxno“m/stl 4
Light enters from air to glass having refractive index 1:50. What is the speed of
light in the glasy ? The speed of light in vacuum is 3 x 108 m/s. .

I T & 2F R R 7w & wffara o 7 v a0 Femor o @i 2

Druw u ray diagram to show image formation of an object placed at 2F of a
convex lens.

Forem & g1 s & et a it e i G 2
Draw a labelled ray diagram to show th'c refraction of light through prism.

ot siefeet ool 1 o A R o EEn A T ATE 2 o
Why does the sky appear dark instead of bluc to an astronaut ?
wqﬁ:mm.hfaqﬂfmﬁm%?«ﬁwfwmmmﬁﬁm

A ) http://www.bsebstudy.com 5

Namc the device that helps to maintain a potential difference across the ends of
a conductor.

v el & gl & Pfon 5 s v ezt 1 s R o & 5

Why is tungstcn uscd almost exclusively for filament of clectric lamp ?
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fag TR+ gt 5

State the principle of an clectric motor,

8 mmu“ﬁtmfﬁdl 1+1

v.

Wnite the names two CNCIRY sources.

. ﬁ‘i'ﬂ'&lmlungm'crfypo@udou
wr WO 9 ¥t 10 ¥ Fdte v #) g @ foveit o T T &1 SR T & fw
6 3% Fraifea 1 | 1x6=6

Question Nos. 9 and 10 are Long Answer Type queslions. Answer any one of them. Each
question cames 6 marks, ] x6=6

9 ez du e e § 2 vok v w § 2 Tk doha @ fafe @ wf
i) ;
What 18 short sightcdness (myo.pia) 2 What are its causcs ? Explain the method

of removing this defcct with dingram.
10, 3W & A o | % qes & ol o@ wam @1 Qv & 6
Writc Ohm's law. Explain an experiment for' its verification.
- THIGA TTEX / Chemistry
¥ AT U¥ / Short Answer Type Questions
T WO 11 ¥ 17 7% oY Iwia £ R e 4 vl & T §) s & fag

2 3w fife 1 4x2=8
Question Nos. 1] to 17 are Short Answer Type. Answer any 4 questions. Each question

cames 2 marks. 4x2=8
11, faum v G shieas 8 s oo ¥ 2 @ aivieaat & il
e 2

What is the difference between displacement and double displacement

reaclions ? Wrile cquations [or these reaclions.
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12,

13.

14.

16

et s & fent s et o fefa ok
o) WifFen ez i wi & v w0 &

b) e Egieeng w s @ w s & R

Write balunced chemical equation for the reaction taking place when —

4 Sodium sulphate reacts with Barium chloride

b) Calcium hydroxide reacts with Carbon dioxide.
N & WY 3w i o) @ o @aeat 4w e & 2 T I
% WY GOw | 2

Which gax i usually liberated when an acid reacts with a metal ? lllustrate with
an example.

FIR A & 7 G & o for wifeaw A @ 3w A &, 39 A
ford 1 2
Name the sodium compound which is used for softening hard water.

G 74 ¢ 2 2
What is Anodising ?

& @1 smE vz & Ferm & Ted @ @ g ¢ 2 shiEm @ A
werEw fomg 2

What happens when zine is placed in iron sulphate solution ? Write the
chemical equation of the reaction.

AT T A qifﬁél

Write the structural formulac of bromopropane and propanonc,
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ot Y Long Answer Type Questions

w18 "m’“ﬂ'"ﬂﬁﬁwwwmilmm*m

y& fPrutfra
s t b

stion N
Question Nos. 18 and ]9 qre Long Answer Type. Answer any one of them. Each question
cames § marks, Ix5=5

18 N EN W s o ? Tk T ) Py, o o g @ fed s

What 1s the chemical name of baking soda ? Write its preparntion, propertics
and uses.,

19 fon v o ot & ? 3% ) w2 s urg & A 3wt @ 2o # S

What arc alloys ? Give its two examples. Explain three uses of alloys.

W fawr / Bilology
Y AT WY / Short Answer Type Questions

T WS 20W 26 7% 7Y Iwtre §1 g | AT 4 WA & I §1 9 0 & frg

2 3% Fratfea &1 4x2=8

Question Nos. 20 to 26 are Short Answer Type. Answer any 4 questions. Each question
carries 2 marks. 4x2-8

20. W& wYeV F & 2 3@ fFa & vonfe aniten fad 2

What 1s photosynthesis ? Wnte chemical equation of this process.

21. i@ w1 g 2 2
What is oxyhacmoglobin ?

22 ARAR Y Toten o @ A 2 2

What arc the differences between xylem and phloem ?
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2 wgAW M R e wn augd b 3w ) -

What do you mean by homologous organs ? Give examples.
24, T eren e k) g e SR AR ¥ I 8 4

What is lood chain ? Give an example of terrestnal food chmn.
25 MW T % v om ko) 2

What arc the atrategies of water conservation ?

26 1w &% o wnd Sl . 2

Write two lunctions of blood.

€d 3wfia WF / Loag Answer Type Questions
Uy Wear 27 va 28 Od v §1 i @ fe ow ey gar & o o & R

s % Fraifta & 1«8=5

Question Nos. 27 and 28 are Long Answer Type. Answer any one of them. Each question

cames S marks. ' I=5=5

27w & st fafe @ ok Wt 5
Explain the methed of urine formation in human beings.

28. WA & W WA A ® amitea fay =il 5

Draw a labelled diagram of female reproductive system of human beings.
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